
Box A Box B Total

Hex Cap Screws

M6-1.0 X 16 Hex Cap Screw 50 50

M6-1.0 X 20 Hex Cap Screw 50 50

M6-1.0 X 30 Hex Cap Screw 25 25 50

M6-1.0 X 40 Hex Cap Screw 25 25

M6-1.0 X 50 Hex Cap Screw 25 25

M8-1.25 X 20 Hex Cap Screw 50 50

M8-1.25 X 25 Hex Cap Screw 50 50

M8-1.25 X 30 Hex Cap Screw 25 25 50

M8-1.25 X 40 Hex Cap Screw 25 25

M8-1.25 X 50 Hex Cap Screw 25 25

M10-1.50 x 25 Hex Cap Screw 25 25 50

M10-1.50 x 30 Hex Cap Screw 25 25 50

M10-1.50 x 40 Hex Cap Screw 15 15 30

M10-1.50 x 50 Hex Cap Screw 15 15 30

M10-1.50 x 60 Hex Cap Screw 15 15 30

M12-1.75 x 30 Hex Cap Screw 15 15 30

M12-1.75 x 40 Hex Cap Screw 15 15 30

M12-1.75 x 50 Hex Cap Screw 10 10 20

M12-1.75 x 60 Hex Cap Screw 15 15

M12-1.75 x 70 Hex Cap Screw 10 10

M14-2.0 x 30 Hex Cap Screw 10 10 20

M14-2.0 x 40 Hex Cap Screw 10 10 20

M14-2.0 x 50 Hex Cap Screw 10 10 20

M14-2.0 x 60 Hex Cap Screw 10 10

M14-2.0 x 70 Hex Cap Screw 10 10

Hex Nuts 0

M6-1.0 Hex Nut 300 300

M8-1.25 Hex Nut 200 100 300

M10-1.50 Hex Nut 100 100 200

M12-1.75 Hex Nut 50 50 100

M14-2.0 Hex Nut 25 25 50

Flat Washers 0

M6 Flat Washer 300 300

M8 Flat Washer 200 100 300

M10 Flat Washer 100 100 200

M12 Flat Washer 50 50 100

M14 Flat Washer 25 25 50

Lock Washers 0

M6 Lock Washer 300 300

M8 Lock Washer 200 100 300

M10 Lock Washer 100 100 200

M12 Lock Washer 50 50 100

M14 Lock Washer 25 25 50

Labels 1

3625 Piece Metric Bin Kit w/ 40 Hole Bin



40 Hole Bin 1 3625


